
 1Step 1
(a) Insert a 3/8-16 x 1” bolt with a lock 
washer & washer into the Overhead 
Bar/Grab Bar Bracket. (b) Hold the bolt 
in place with the Socket Wrench and 
align bolt with the insert in the 
YAKport. Don’t tighten the bolt at this 
time.

Tools Needed
(1) 9/16“ Wrench
(1) 9/16” Socket Wrench with an extension 

Step 2
(a) Insert the supplied 3/8-16 x 1” bolts 
into the top location, lock washer & 
washer. Don’t tighten the bolt at this 
time. (b) Secure the front location with 
the supplied 3/8-16 x 1” bolts, lock 
washer & washer. (c) Tighten all three 
bolt locations to secure the bracket.

Step 3
(a) Insert the metal Overhead Bar into 
the Overhead Bar/Grab Bar Bracket.
(b) Insert the four 3/8-16 x 4” bolt with a 
washer from the inside of the YAKport.
(c) Secure with a washer, lock washer 
and nut.

Overhead Bar / Grab Bars

 2

 3

1501 Owner Avenue, Atlantic, IA 50022

(a)

(a)

(a)

(b)

(b)

(b)

(c)

(c)


